
÷ c jœ jœ rœ rœ jœ jœ rœ rœ jœ ‰ œ jœ jœ jœ jœ jœ rœ rœ
÷ œ œ œ œ œ œ œ œ jœ ‰ œ œ œ œ œ œ œ œ

÷ 86 jœ jœ jœ jœ œ rœ rœ jœ jœ jœ rœ rœ rœ rœ

÷ œ œ œ jœ œ œ œ œ œ œ œ œ œ œ

÷ 42 rœ jœ rœ .jœ rœ ‰ jœ jœ jœ

÷ œ œ œ .œ œ ‰ jœ œ œ

÷ 89 œ ‰ jœ jœ rœ rœ .œ rœ rœ rœ rœ rœ rœ rœ rœ jœ jœ jœ ‰ jœ

÷ œ ‰ œ œ œ œ .œ œ œ œ œ œ œ œ œ œ œ œ ‰ œ

MHT 110

Add bar lines and renotate each of the following two-measure passages to reflect the meter 
clearly and to represent the correct use of beams, dots, ties, and rests.

Beaming practice #1 answers


